# Item 17



### **Travis County Commissioners Court Agenda Request**

Meeting Date: July 9, 2013 Prepared By/Phone Number: Rachel Fishback, 512.854.9853 Elected/Appointed Official/Dept. Head: Cyd Grimes Commissioners Court Sponsor: Judge Biscoe \*\*REVISED AGENDA\*\*

**Agenda Language:** APPROVE CONTRACT AWARD FOR SEPTIC AND HOLDING TANK SERVICES, IFB NO. 1304-013-NB, TO THE SOLE BIDDER, VSE SEPTIC SERVICES LLC.

Purchasing Recommendation and Comments: Purchasing concurs with department and recommends approval of requested action. This procurement action meets the compliance requirements as outlined by the statutes.

This contract requires for the vendor to supply Septic and Holding Tank Services to Travis County Transportation and Natural Resources and other Travis County Departments.

On May 28<sup>th</sup>, 2013, IFB No. 1304-013-NB was issued through BidSync. One (1) bid was received on June 21<sup>st</sup>, 2013. The Purchasing Office concurs with Travis County Transportation and Natural Resources Department recommendation to award a contract to the sole bidder VSE Septic Services, LLC.

### Contract-Related Information:

Award Amount: estimated requirement Contract Type: Term Contract Period: July 31, 2013 through July 31, 2014

### > Solicitation-Related Information:

Solicitations Viewed:	15	Responses Received:	1
HUB Information:	N/A	% HUB Subcontractor:	N/A

### > Special Contract Considerations:

Award has been protested; interested parties have been notified.

Award is not to the lowest bidder; interested parties have been notified.

Comments:

### > Funding Information:

- □ SAP Shopping Cart #:
- Funding Account(s): 1490220001
- Comments:



### TRANSPORTATION AND NATURAL RESOURCES STEVEN M. MANILLA, P.E., COUNTY EXECUTIVE

700 Lavaca, 5<sup>th</sup> Floor Travis County Administration Building P. O. Box 1748 Austin, Texas 78767 (512) 473-9383 FAX (512) 708-4697

June 26, 2013

#### **MEMORANDUM**

TO:Cyd Grimes, County Purchasing AgentFROM:Steven M. Manilla F.E., County ExecutiveSUBJECT:Contract Award – Solicitation B1304-013-NBSeptic and Holding Tank Services

TNR recommends that Travis County award the above referenced contract to the only responsive bidder, VSE Septic Services LLC.

The product category for this contract is 76121700. The budgeted cost center is 1490220001.

If you need additional information, please contact Christina Jensen at 854-7670.

CJ:SMM:cj Contract File

### Bid Tabulation Packet for Solicitation B1304-013-NB

## SEPTIC AND HOLDING TANK SERVICES

## **Bid designation: Public**



## **Travis County**

### Bid #B1304-013-NB - SEPTIC AND HOLDING TANK SERVICES

Creation DateApr 29, 2013Start DateMay 28, 2013 11:07:12 AM CDT

End DateJun 21, 2013 2:00:00 PM CDTAwarded DateNot Yet Awarded

B1304-013-NB01-01 Group A: PUMP SEPTIC AND HOLDING TANKS: Richard Moya Park - 4 Tanks								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y			
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product C Supplier Notes: \$ 3 an 800 gallon tank v \$ 240.00 ex. a 1000	30 per 100 gallons,	0.00 .				

B1304-013-NB01-02 Group A: PUMP SEPTIC AND HOLDING TANKS: Pace Bend Park - 6 Tanks								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y			
Product Code:	duct Code: Supplier Product Code:							
Unit Amount Text: thirty		Supplier Notes: \$	300.00 for 1,000 gall	ons total p	orice			
Total Amount Text: thirty								
Agency Notes:								

B1304-013-NB01-03 Group A: PUMP SEPTIC AND HOLDING TANKS: Pace Bend Park RV Tank - 1 Tank								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y			
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product ( Supplier Notes: \$	Code: 300.00 for 1,000 galle	ons total	price			

B1304-013-NB01-04 Group A: PUMP SEPTIC AND HOLDING TANKS: Sandy Creek Park - 3 Tanks								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y			
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product ( Supplier Notes: \$	Code: 300.00 for 1,000 gall	ons total p	orice			

B1304-013-NB01-05 Group A: PUMP SEPTIC AND HOLDING TANKS: Webberville Park - 6 Tanks								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y			
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product ( Supplier Notes: \$	Code: 300.00 for 1,000 gall	ons total				

B1304-013-NB01-06 Group A: PUMP SEPTIC AND HOLDING TANKS: Webberville Park - 2 Tanks							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y		
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

B1304-013-NB01-07 Group A: PUMP SEPTIC AND HOLDING TANKS: Mansfield Dam - 1 Tank						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00	Y
Product Code:		Supplier Product (	Code:	
Unit Amount Text: thirty		Supplier Notes:		
Total Amount Text: thirty				
Agency Notes:				

B1304-013-NB01-08 Group A: PUMP SEPTIC AND HOLDING TANKS: Hamilton Pool Park - 3 Tanks							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y		
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

B1304-013-NB01-09 Group A: PUMP SEPTIC AND HOLDING TANKS: South East Metro Park - 3 Tanks								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y			
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product C Supplier Notes:	Code:					

B1304-013-NB01-10 Group A: PUMP SEPTIC AND HOLDING TANKS: Bob Wentz Park - 1 Tank							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y		
Product Code: Unit Amount Text: thirty Total Amount Text: thirty Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

B1304-013-NB01-11 Group A: PUMP SEPTIC AND HOLDING TANKS: Hippy Hollow Park - 1 Tank									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
VSE Septic Services LLC	First Offer - \$0.40	100 / gallon	\$40.00		Y				
Product Code: Unit Amount Text: forty Total Amount Text: forty Agency Notes:		Supplier Product Code: Supplier Notes: * Due to accessibility issues							

B1304-013-NB01-12 Group A: PUMP SEPTIC AND HOLDING TANKS: Reimers Ranch Park - 8 Tanks									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
VSE Septic Services LLC	First Offer - \$0.30	100 / gallon	\$30.00		Y				
Product Code: Unit Amount Text: thirty Total Amount Text: thirty		Supplier Product Supplier Notes:	Code:						
Agency Notes:									

B1304-013-NB01-13 Group A: PUMP SEPTIC AND HOLDING TANKS: Pump Additional Tanks - Countywide Parks									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
VSE Septic Services LLC	First Offer - \$0.35	100 / gallon	\$35.00		Y				
Product Code: Unit Amount Text: thirtyfive Total Amount Text: thirtyfive Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

B1304-013-NB--02-01 Group B: PUMP, RINSE, REPUMP AND REFILL SEPTIC AND HOLDING TANKS : Cypress Creek Park - 1 Tank

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
VSE Septic Services LLC	First Offer - \$0.40	100 / gallon	\$40.00		Y	
Product Code:	Supplier Product Code:					
Unit Amount Text: forty		Supplier Notes: Rinse per 100 Gallons: 30				
Total Amount Text: forty		Fill per 100 Gallons: .20				
Agency Notes:		each 1000 gallon tank pump will be \$ 350.00				
		Each 1000 gallon tai	nk rinse will be \$ 30.0	00		
		each 1000 refill tank will be \$ 20.00				
		\$ 400 total for rinse, repump and refill of 1000 gallon tank				

## B1304-013-NB--02-02 Group B: PUMP, RINSE, REPUMP AND REFILL SEPTIC AND HOLDING TANKS : Pace Bend Park - 78 tanks

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
VSE Septic Services LLC	First Offer - \$0.40	100 / gallon	\$40.00		Y	
Product Code:	Supplier Product Code:					
Unit Amount Text: forty		Supplier Notes: Rinse per 100 Gallons: .30				
Total Amount Text: forty	Fill per 100 Gallons: 20					
Agency Notes:		each 1000 gallon tai	nk pump will be \$ 350	00.0		
		Each 1000 gallon tank rinse will be \$ 30.00				
		each 1000 refill tank will be \$ 20.00				
		\$ 400 total for rinse, repump and refill of 1000				

## B1304-013-NB--02-03 Group B: PUMP, RINSE, REPUMP AND REFILL SEPTIC AND HOLDING TANKS : Pump, rinse and refill additional tanks - County wide

	· <b>J</b>							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$0.43	100 / gallon	\$43.00		Y			
Product Code:	de: Supplie			Supplier Product Code:				
Unit Amount Text: forty three		Supplier Notes: Rinse per 100 Gallons: .40						
Total Amount Text: forty three		Fill per 100 Gallons: .40						
Agency Notes:		each 1000 gallon tar	nk pump will be \$ 350	00.0				
		Each 1000 gallon tank rinse will be \$ 40.00						
		each 1000 refill tank will be \$ 40.00						
		\$ 430 total for rinse, repump and refill of 1000						

B1304-013-NB03-01 DEODORIZER/MOSQUITO REPELLENT: Pit Toilet Deodorizer/Mosquito Repellent								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
VSE Septic Services LLC	First Offer - \$20.00	300 / gallon	\$6,000.00		Y			
Product Code:		Supplier Product Code:						
Unit Amount Text: twenty		Supplier Notes: repellent includes material and all labor						
Total Amount Text: six thousand	\$ 20 per gallon							
Agency Notes: \$ 300 gallons are \$6,000								

#### Supplier Totals

VSE Septic S	ervices LLC	\$6,528.00 (17.	/17 items)
Bid Contact	Sandy Martinez <u>info@vegasepticinc.com</u> Ph 512-261-4000	Address PO Box 342742 Austin, TX 78734	
Qualifications	DBE MBE WBE		
Bid Notes	gallons) per quantity of 100 gallo	ill be voided, as QTY was considered TOTAL Unit pric ns. ents a gallon (tank is overflowing, pump is out etc.)	e (of 100
Agency Notes		Supplier Notes: price per 1,000 gallons is \$ 300 Please note paper bid turned in will be voided, a considered TOTAL Unit price (of 100 gallons) per of 100 gallons. All overages will be billed @ .40 cents a gallon	er quantity

overflowing, pump is out etc.)

#### Award Total

\$6,528.00 (Does not apply to percentage or no price items.)

\* \*

#### **Bid Tabulation Summary - Award Amount**

Bid: Septic and Holding Tank Services Bid # B1304-013-NB Supplier: VSE Septic Services LLC

#### Group A: Pump Septic and Holding Tanks

Location	Est. Tank Size	No. of Tanks	Unit Price	Qty/Unit	Park Estimated Annual Price
Richard Moya Park	800	4	\$0.30	100/gallon	\$960.00
Pace Bend Park	800	6	\$0.30	100/gallon	\$1,440.00
Pace Bend RV Tank	800	1	\$0.30	100/gallon	\$240.00
Sandy Creek Park	800	3	\$0.30	100/gallon	\$720.00
Webberville Park	1000	6	\$0.30	100/gallon	\$1,800.00
Webberville Park	800	2	\$0.30	100/gallon	\$480.00
Mansfield Dam	1200	1	\$0.30	100/gallon	\$360.00
Hamilton Pool Park	500	3	\$0.30	100/gallon	\$450.00
South East Metro Park	1000	3	\$0.30	100/gallon	\$900.00
Bob Wentz Park	4000	1	\$0.30	100/gallon	\$1,200.00
Hippy Hallow Park	4000	1	\$0.40	100/gallon	\$1,600.00
Reimers Ranch Park	1000	8	\$0.30	100/gallon	\$2,400.00
Pump Additional Tanks - Countywide	0	0	\$0.35	100/gallon	\$0.00
				total:	\$12,550.00

#### Group B: Pump, Rinse, Repump, and Refill Septic and Holding Tanks

Location	Est. Tank Size	No. of Tanks	Unit Price	Qty/Unit	Park Estimated Annual Price
Cypress Creek Park	1000	1	\$0.40	100/gallon	\$400.00
Pace Bend Park	1000	78	\$0.40	100/gallon	\$31,200.00
Pump/Refill Additional Tanks - Countywide	0	0	\$0.43	100/gallon	\$0.00
	total:	\$31,600.00			

#### Group C: Deodorizer/Mosquito Repellent

Location	Est Gallons	Unit Price	Qty/Unit	Park Estimated Annual Price
Pit Toilet Deodorizer/Mosquito Repellent	300	\$20.00	1/gallon	\$6,000.00
	total:	\$6,000.00		

Group A: Pump Septic and Holding Tanks		\$12,550.00
Group B: Pump, Rinse, Repump, and Refill Septic and Holding Tar	ıks	\$31,600.00
Group C: Deodorizer/Mosquito Repellent		\$6,000.00
	TOTAL	\$50,150.00